
Math L03, Exam #L, Spring 2012

Instructions: show all work' lf you are using your calculator to solve, you may sketch a graph or indicatekeys pressed to show work' Exact values: do not use decimals in your answers unless the problembegins with decimals, or is a word problem. All  answers should be ful ly reduced for ful l  credit.

1" Determine if  each of the relations below are.functions. state the domain and range of eachrelation. (5 points each)
a. {{t,  o), (2,4),(3,10), (4 -t),(5, 4)}

Yes, ftwefitL"uctsv,'
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2 . Find the value of the function at the specif ied points. (5 points each)
a.  " f (h)=-h2 +5h- I , f (4)

-U f+sb r )4  =  -16 r )o - t  z  + - t  =B

b. F(z)=fi,rro,

c. H(x) = 44x -3,H(7)

,t&)4 =ilzsE.- = l;r =E

3' suppose the function R(p) = -p2 + 200p represents the daily revenue earned from selling
personal digital assistants (PDAs) at p dollars for 0sps200, Explain why any p greater than 5200is not in the domain of the function. (5 points)

? Vd.4ur, 22oo q,',* rrcr(ffi,tN k'et*x*<lt
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4' For the graph f(x) below, answer each of the fol lowing equations. l f  the answers are not exact,
do your best to estimate. (2 points each)

F i n d f ( 7 )  =  - /

Find f(-2) = Z

X-intercept.  5

Y-intercept z )-

Domain f-fo, OO)

Range (- Wr 17

When is f(x)=41 ;6'- 8

When is f(x)= -2r X-- ?

What are the zeros of the function?

a .

b .

d .

e.

I

[ = 5

5. Determine if  the ordered pairs are a solution to the system. (5 points)
( x = - 4 y * 2

lz, + Bi = tz a' (10,-1) b' (-t/2,1'/2) c' (2,r1

pJ -4ei+z No

lo f L(+>= to

-lr3 <U)rz
- l z  f  2+L
Z 3 -q()+z
2 / -'l+u

No ,\o



Solve the system of equations by graphing. Sketch the graph on the axes provided [Hint: f ind
the intercepts of each equationl. Be sure to clearly state the solution to the system and label i t
on the graph' Label the system consistdnt or inconsistent; and dependent or independent i f
applicable. (7 points)

{ * - Y = - 3
( 3 x * 2 y = 6

(o, a)

tAiryr/^i!^l-

7. Solve the system of equations by substitution. Show all work to receive full credit. Be sure to
clearly state the solution if one exists, . Label the system consistent or inconsistenU and
dependent or independent i f  applicaIle. (7 points)

{ x + 4 y - 6
l Y = 2 x - 3

Y , + 1 ( z x - a ) = Q

X +  8 N - t z - -  b
r l L  +  t L

) 
-_ aca) -3

\ =  4 - 3
t / =  |

0 , r )
OlyAulukf

IB
1

Y =) ,



Solve the system of equations by el imination by addit ion. Show all  work to receive ful l  credit.
Be sure to clearly state the solution if one exists. . Label the system consistent or inconsistent;
and dependent or independent i f  applicable. (7 points)

[ 2 * - ! = 6
( 4 x * 3 Y = 2

_ /  \^ 2 (  2 x - \ - - t \
\ , )

2r - \=b
.  L l ' =  ) +  b

I = L1+S
), = Le)nZ= 

-lt3= f,

9. Solve the system of equations by any method. Show all work or sketch the graph to r:eceive full
credit. Be sure to clearly state the solution if one exists. . Label the system consistent or
inconsistenu and dependent or independent i f  applicable. (7 points)

y z=/9+z
< Z  = /

I A/0ot'4*4lt^J-



10' solve the system of equations by any method. show all work or sketch the graph to receive fullcredit' Be sure to clearly state the solution if one exists. . Label the system consistent orinconsistenu and dependent or independent i f  appricabte. f i  points)

{ 6 x + 3 y = t z( y = - 2 s + 4

S atrvt-r-

-U+{ :  -2++\

C =  o
hd-t/rla*

&
3

Zb

I - sK'?-b

F - -  3 2

11.. The sum of two numbers is 59.
number, the difference is _20.

X-+y - sB

X ,27 = -ro)

) - -

lf twice the smaller number is subtracted from the larger
Find the two numbers. (g points

(gz, zb)



t2. ln a tr iangle, the rneasure of the f irst angle is 10" less than three t imes the measure of the
second angle. l f  the measure of the third angle is 30", f ind the measure of the two unknown
angles. (8 points)

3 x - l r c  i - X  + b  =  t g o

4 y  + L o  =  I R O
-Zo -zo

=  t b o
v

n  =4o

l  l 0 "

4\)"

30"

(+,2)

K+01 -ro

13' A baker wants to mix a 60% sugar solution with a 30% sugar solution to obtain L0 quarts of a
5t% sugar solution. How much of the 30% sugar solution wil l  the baker use? (9 points)

y l u , L o  +  y * , 3 o =  l O + . S l

X + ) = f o

) =  t t 3 - X

. 6 x  - t  B ( r c - x )  =  f r l

, L 1 , +  3 - , 3 1  =  S '  I
- 3  - 3


